- o = %; , ,
v ba phan s0, thtr tu cac phép toan cé dau ngodc

Tén: Ngay thang: Piém:
24 8 111
— +-)+8 = —(=+ =)=
(5 +3)78 63172
4 4 6 4
(3 5) (5 3)
33 1 31 3
5G72)° 23727
8 16 12 1
—+__)=8= - = — =
G+5)*8 37353
13 1 302 1
2@ 27 (3739737
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2y m 2 () , ,
v ba phan s0, thtr tu cac phép toan cé dau ngodc

Tén: Ngay thang: Diém:
24 8 14 11 1 1
(5 3) 8 15 6(2 2) 6
4 4 8 6 4 19 4
(z+=2)+4=— (=+=2)+2=—=1—
3 5 15 5 3 15 15
33 1 3 I 3 7
53727 13777 %)

8 16 3 I 2 | 1
— 4+ __)=8="= - = —=(——
G+35)78=3 37337 0%)
13 1 1 3 2 1 1
2373975 573737 0%)
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